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QUESTION 1

Click on the exhibit below.

vpls 1 customer 1
sap 1/1/1:0

wpls 2 custcomer 2
sap 1/1/1:100

vplis 3 custower 3
sap 1/1/1:300

The following VPLS services and SAPs have been configured. Which of the following statements is true?

A. All untagged frames will be dropped.

B. The source MAC address of a frame with a top tag of 200 and bottom tag of 300 will be populated in VPLS 3.
C. All frames with more than one tag will be dropped.

D. The source MAC address of a frame with a single tag of 500 will be populated in VPLS 1.

E. The source MAC address of a frame with a top tag of 100 will be populated in VPLS 2.

Correct Answer: E

QUESTION 2

Which of the following technologies allows for two explicit VLAN tags to be received from a customer device?
A. RSVP-TE

B. SP-VLAN

C. QinQ

D. Dot1Q

Correct Answer: C

QUESTION 3
Which protocol is used to signal the status of the active links between the PE and the CE in MC- LAG?
A. MSTP

B. MCLAG
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C. LACP
D. DHCP
E. A proprietary protocol

Correct Answer: C

QUESTION 4

One of the shortcomings of Spanning Tree Protocol (STP) is that it computes a valid, but not necessarily optimal, path
between nodes within a network.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 5

What are the benefits of a hierarchical VPLS architecture? (Choose 3)

A. Increases scalability

B. Reduces the FDB size within a VPLS instance

C. Reduces replication and bandwidth utilization from the MDU device to the core network
D. Easier to manage

E. Reduces the routing table size

Correct Answer: ACD
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